
ARrrt'reTtcgd Fit gJPrroSr

m Nepst gnl*h
l) 4t'3 r 6(,-

3; ls; Lr; ts; s

b) 4r"1, d,r - l

4'3i O',-2.i -+

s
/tz

-.}.-3
zl ,

l?t l \| arit*"ghiclcil frt trnorl. J:
a) aq= +\ ) ds'4\. U,.'o5^tlc

o,5" Ot+o(
' l \ =  4 4 + c t

c[ - {tt *r4

ct- 3
-tG'

€[2o= 35, 43o= SS.
U$g"S.-lc ae5-.

( ors= QzP+ Sct )\
\ Or- = Qz.s t Sc,t A I

b)

G*p= Ct + 3cd

44= Ol  +  3 '3
'14 * d1+ n

Qq,* 44-q

a n n L
2-

O3o= O'*+S&

ss= 3s + 4od
,{cra\ = SS'-3S
\ad.= ?.a

dx= L
a*

e )  q ' + r o t r - *

t i -n i

€t) e.! d.c -3

7)+) a, -Li-s

drtd AiP, ue tftrf f 
c{$,ro I

an=3

\ - = a ^ + d * 3 + l =  + * { *
Ot= @17+d,- ! ,Sf OrS= $

Gt=  a3+c { :  q '+9S *  tS
o.S= Ot't c{ * 9,S* O1S * $

4 r = *  t

Q74a Ot* d* $ +6-z) = * -L= ?-

03 = a4*d= 2-+ Gz) - ?-L =O

Q<= 03+ d = o+(-a)  ^o-z= - / .

65-= A\ + d = -Z+ (-Z) = -Z-Z* -Lt

4," t
4z* Q,rr** t "(t) 

=
,q* c.L+ da -y' + (t) *

4lr= o,l*a- €o (-+) =

Gs= Ou"+d' t' * (*4) =

4,t=7

e7= &4+ da T +G3) = T-3 = t f

at= AL+d- k *(-S) = t  -3r 4

G q : 4 3 + d , : ' l  t G 3 ) =  4  - X e  - L

G5'* 4g+o[ - 2+ (-l) 
" 

-L -3:' -S

cla\o '

Q i r * .

3,s

-3,-{ .= +{,t)h ' r
-k?4 

=  € .
7 L t

+i=tr ?
+ * €

O25': 4zra'r Sd

Ae.E- = 3S +.S-'2

Oe r *  3S t {o  - hS

a2s' 9s

oq*L
c [ *  3

- AnJz;tEDesA' 'nst.oono.sf (a) -



@| V.rit'.eh*f po.$ro'rh ja chfio:

1,) d'1o? t n.lS; An. 31S, Urfrlt olr 4es.

An= ?(". + a^)

32.s= €(+ + aJ l.z
6StC =. tS 6? + a",)

GSC= f , lS+2Sa.n

+aS = 2.S4n

w
$ Aife ,16{ , n - ah,, d= 4 .

An* t Cr-t an) dn= a4+ (^ -a )o t

o,l\* A4+ {3,4.64 = 
* 

(q4+ er) <-_

4G4= !. (q"{+ q4r4})

G{ s Y. (Zq + 43,) /,Y
23= Zao+43

*2^^ o 43-13
-?q s -4o

G t = S
'='==z>

Oqr= Qa + (tt-a)<>t

49 - { -+ (2S:-'t) -t

43= 7+ 2-*d,

2,G = 2)d
a * € a €

Urde,[e % Totl .

A"l. to Qn+ {3

4tr+ = S* ai

Qa1 = 48
4#*tt-€

i"+l
I l ras  I

q{: S, onr = 48

c) On = 9T, d,= 3, Ans 't6{2. Urde,tc hro{ .

An= * Cr^+ Or.)

46{a: {(a,r+ 3f)

32ILh = r\ (q,l r g?) 
<

324* = n(4o-3n+3?)
322(+: n(43?-3^)
322+ = 4$?n-3r*

3na - 43?n * 322tr =-o

Cln*Cl4+ (n-t)ot

3? = qr+ (n-4) '3

q 4 =  3 ?  - 3 n + 3

C\a 4oo -3n

> =(rt3?)"- &F.3 .3Zz! =

. t -

h4rLE ry= {g}*atr - G 6

v14= €ryS,* €=3trd /ru
,t3?-at 48f

\ *  . 7 - -a  +=34
-ftg1v1677esfi R r"hr"*"r (z)o- 

atE .

= 388o3 - 3E6Bb = 42t

4'\= 4oo -3n

Qt= 4oo -3'31

Ctr 5! 4gp- 95

Qt=  Y
4t-

4r=T
n=3/ t



€[) a,n 3 b?, a" S., r\n = 2hS. Unfe'h 4", h .

An = B. (on* an) Gn = G,r * (n- a) et

2+S o Q la,ttrT) 
h? = 4n+ (t-a)'s

1  { f i = d , r * S n _ S
tflo = n Coa +hT) en = +? - Sn +S

r*3o'* Y1(sz-sn+b?) 
\ 44o 52 - sn

Bo * 5'2.n -s.3+tTn

SrP - 39n + k3o :r e g= (-gg)z- +.S.t3o =
: 3804 - Sgoo =, 4

E

nar,.=99*q=, 
%

n4= ry-- F= g r\.>H-*= B,s (rxs

4na: 52- S.49) = 52-SC * 4 O , " r e L r n - 4 o

Ur&,te Sorrcbf grvni-ch clvbnsi/t\' €1"^,: At,

?ro Lle,,rotr pb+i-:
r) e.r= 6 r arat 29 a,rf kC^" onz.)

fu=-  6, (6+24) z Q'31

Aiz-= 2Jctf
4-:

Ap.* 2or1

b) &r- O t d- {rS

442-- 4,r * 44e. \t= E @^+ Q2.)

c'z= Q + +1.4rs &L-' 6' Co + 46ts)

crzo ,,p! Ata= 6.46fs r-^
Ar,z*9 A.-:93

o) a{= 2 ) 4t- -'19

&go e,t + Td 4rz.= q+ +14 Arzj EC^* 4ra)

- 43 * 2 +:tot Atu* z+ ?tej) Arz* 6. (L - 3,t)
*V.. 2+f3 e,42.* L-33 \p-= 6.ezq)
-V.-=U

4=at; 
qt$ r\a2'a e9

i-.:=ED

Arzo (- 4TT)
-ffi,tTrr. €Tt crA' Rasr.ouh,pJ r (c) -



€t) 44= ?,, 48' - 4

QE= ctt * 6e-*)d
-r1 = a + lrd

- t t a=  T t4
-\p{ = {,

d* Ce)
--

4rz* q + 44d,

atzo 43 + 44'?L>

Qz* {j *2,.

ou*9

G,*= 4,t+ 3c{

{. e O,r +3'e2-)

4  * & r - C

-44 o '  -  6-?

4r= 43
1=--

z\,rt (o.* qrt)

Anr* 6. (4j - g)

zVz = 6' L?

r\rl-* y

@ Ur&be ..dty\ 4e* pc6xpr.ortrve Lr€'f'r- 
PoK 

(ttr.. r*rdbtc a<, d\ I

A or-* oo = 
:L

4++ O5=36

b) 4r+ 4y = -4

?tb-45 = 6

\nd * Q^+ Gd:r '  -r \

g'r+U -@^+ha) *6

2-a4+Yd = - 4
-Zd, a Q'

lu r 'd  1Oa+Sd=32-

C 4 + A d + Q q + t r d = 1 9

han+ 6d = 32- |eq)-
Zao *7o1 =36

-2"\^Gd = -32-

Zar *Yo( = 3G.

d = *
4#

La't+ Gd':3?-

2,a4+6,k=3L

?J.q +29: 3L

Z'a'q= 32^Z\

?a,o $
qn *9

4-*

4,1* )  t  d - *

2.qtEet= -4

?A^+7.(-3\ * -1

?s\ -2.4:' -1

2nn * ?-a
&t'4o
4-grg.

-24= 6
6lz. e3)

.==Efl',

Ch* 4O,, d*e3)

7q..21

-M.fiH€netA' tusLa)^)atr (+) -*



2a1t3d, * -4t

2-o,4 's 3. 1* -'ltf

Laa *  6o  -4V

2.o.t n -?n

A4 € Glo)
%

Q< = t4o) , el= 2_

q4+ 3ot : eT

Qq+ 3.La-27

Ql t  Qa?f t

Q 4 o  * - 6

ert,:2A
4=-

eq*Ut  d=L

@ ur,&l€ snFrne,hcl€.^ e*I.*rrosf ve kJ.*-F0o{f :
a4+ ah * %= \4 tsoL.\ crsn.i pos{oqrnotr'
45 - 43 - QL o 2- . dSi6. sot c.g[ 

' 
4EL i.

44 + A,rt3d, + ar * So( =?'l

an+ kd - (q,, +zrr) - (oa+oD *)

34r * 8c( *44
-a4 + ol !L 2-

3or t  8d *74
-344 +3ot = 6

/Ad, = W
d , *Y
42=

, lgl .-  t (S+a',)
482-* ?S + S+($-4)'+]

%+ = n[lo +?n-Tl
3O* = n (3+3.)

36+ = 3n +?nL
:lrF+3n -36k : Q
-3tr6+,tots] -jt,{@

t\rz=f  
T-

1.3

- A ^ * d * 2
-a^ *1 = ?'- '- 

a^= -S 4r= S
- ffilrlt€n ad rcro,ntosr ( g):

- -3f 4o,1
CI|tz-= -it-

-3+/rc4 X8_ :zry,=

e) a{* 4,+ = -,f\

QZ+ Q5s - lO

O4+ Qn+3cl' = -4+

q+d+  on+*o t *  -4o

%q * }c,t : -4b /'?'t\
2 a \ * S o ( :  - 4 0

-b^ -3d'", 4+
?a.n +Sd= -4ca

2d ' *  4

%
4 Z + ( l g - 4 3 - 2 !
4r+ a6 = 52-

q* d * e.r+ ho[ - (a4+2d) *

A4* A4+ Sd = 52-

44 {r3ct = .tr?
L * r + S o ( = 5 2 -

l,?^\

-2.,c,^ - 6ol * -$r1

241 -t Sot = S'2-

-61 =. -L

d .=  L
dtG

1_-ff*n
I+Cbr.a I


